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Lesson 2 Exit Ticket

Median Income in the United States


Use the data below and graph a scatterplot on a separate sheet of graph paper.
	Year
	Median Income

	1997 (x = 0)
	$44,568

	1998 (x = 1)
	$46,737

	1999 (x = 2)
	$48,950

	2000 (x = 3)
	$50,732

	2001 (x = 4)
	$51,407

	2002 (x = 5)
	$52,692

	2003 (x = 6)
	$54,061

	2004 (x = 7)
	$55,823

	2005 (x = 8)
	$57,612

	2006 (x = 9)
	$58,480



1)  Is there positive or negative correlation?





2)  Draw in the line of best fit.


3)  Write the equation of the line of best fit:







4)  Create and draw the scatterplot.
Lesson 2 Exit Ticket Answer KEY
Median Income in the United States


 Use the data below and graph a scatterplot on a separate sheet of graph paper.
	Year
	Median Income

	1997 (x = 0)
	$44,568

	1998 (x = 1)
	$46,737

	1999 (x = 2)
	$48,950

	2000 (x = 3)
	$50,732

	2001 (x = 4)
	$51,407

	2002 (x = 5)
	$52,692

	2003 (x = 6)
	$54,061

	2004 (x = 7)
	$55,823

	2005 (x = 8)
	$57,612

	2006 (x = 9)
	$58,480



1)  Is there positive or negative correlation?
positive



2)  Draw in the line of best fit.


3)  Write the equation of the line of best fit:
y = 1496.79x + 45370.65 (from calc)

4)  Create and draw the scatterplot.
Answers will vary.
